vifers aiaat Tt
SCHOLASTIC APTITUNF. TEST
34 WTH-UF ¥ T 100 T &1 T WA OF AF W ¥

THERE ARE 100 QUESTIONS IR THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

| wE FW 50 kmyh F AEA e A a0 Feemer o T AT § A {67 40 kmfh
a7t iy W | 40 FEETHRT g A ETH £ R0k T FE GO H Y FH A

R O B
i1] A0 kmjih (2 A5 lern/h
i AR kmih {4 53 km/h.

A car travels 40 kms at an average speed of S0 km/h and then iravels 40 lems at
an average speed of 40 km/h, The average speed of the car for this BU km tnps

(1} 40 kmjh {2 45 km/h
(3 483 km/h 4] 53 km/h.
5 paAT TR fe o @ fEw A aon % e o g g 2
i1 ON 2y HEW '
m A | [y =
Tl:& 1ot ‘mass’ refers to the same physical concept as
[ weight 14] mertia
3] force [4] acoeleralivn.

3 50 ke T T 9 AR BN F 0 mys 0T T E | TR A 00 ms
T & T o o o AR AT T S e e
i1 4ol [2h ag J
23 1eplr {d] 20,

£ 50 ke object is moving horigontally at 60 m/s. [0 ader 1o change its speed to
10-0t m /s, the net work done oo the object must be

(L 4Jd |21 o)
[ 1604 14| 20
q. T At & O R Y e W TE iy W@ R 8, 6
i ?Fﬁ'r_ﬁ:' e (2} o T
(4 ST [y T |
The momentym of an object ot a piven instant js independent of ils
{11 inertia 12) speed
3] eelocity 4] acoeleration.

+
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SAT-3 (4}

5. U T o g1 MO T O] ] S S g e
{1) W& Y 9T AT ST E # TE g mE
12| % TR T O T YO T Ry e
131 O WA TLUF W OF U9 d oa =5
4 7 At et & woe g
The pressure exerled on the ground by a man is greatest when
{1l hg stands with both feet Qat on gproond
2] he stands fMlat oo one Par
I3 he stands an the (oes of ane bat
) all the above yield Lhe same pressure. _
6, T S G0 B TORT 3-0 m € UF WA $ 0 g 00 W % e
7 %
1] 75 m (2} 15 m
3] 30m - [9) B0 m.
A zovnd wave has a wavelength of 30 m. The distance lrom a compression
gentre to the adjacent rarefaction centre is

1y 0-¥5m [2) I-3m
I3b 3m 4 60m
7. A ¥ =Eae ey W@ AR = e s
(§) TN, W O TR (2 e, mier e a3
3y A, wE o (4) T, BT U4 337
Or the following, the copper conductor that has the least resistance is
(17 thim, long and hot 2] thick, short and cool
(3]  thick, long and hot 4] thin, shaort and coogl.

B, 2m1%mnfafmﬂvﬁ$qﬁtﬂﬁ_ﬂqﬁﬁmﬁuh=rﬁrmv fFemre 7@ #t gfe @
wrer w1 T wn wiEE % T w S
i1l 5V [ 2
13 4V {4} 20,
Four 20 01 regislors ate connecied in series and the combination is connected to
a 20V el device. The polennal difference across any ane of Lhe resistors ia
[l 5V S 2V
3 av . M) 20 v,
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9. UF W B TFEE & RN AR AF 1T
(1) =% 5 T € -
(2} T SEN I A & R T

W S4A % PR w1 e d N o g i i A 2
(4 TEEE R i et O T A

The mapnetic field hines doe to an ordimaty bar magnet

(1}  form closed curves

[} cross one another near the poles

(3] are morc numerows near the M-pele than near the 5-pole.

(4}  do oot cxist inside the magnet.

10, W& 0 SN S AN X § RS Y B A i 8
\\ .
\ ¥
(1) o E HEE A T A '
12 TR T e w e
(3 = e T e e d
14) AU T Agha 3A SATEad wat E

When hght travels from mediam & to medinm Y as shown

S
\,.

(1}  both the speed and the frequency decrease

[2] both the spoed and the frequency increase
i3] both the specd and the wavelength decrease

4]  bath the wavelength and the (requency are unchanged.
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11. W gl % ma, T G W o2 d W UE S oo b AT o T geior
& g | g T e ¥ i o e A Y ) e ) & e
W, T % 76 gt § 5t R wha w5 0

02d
"o
d
(ty 24 184 2 024 234
3] 0%d 054 4 02d 124

A candle Cis kepl hetween twoe parallel mirmors, at a distance (2 d from the
ruarTor 1, Here o is the distance betreen wmirrors, Muluple imapes of the candle
appear in both mirrers. How far behind mitror 1 are the oearest (wo images of

the candle in that mirror ?

Oz
———
‘r
d- . I
(1} 02d 184 2] o024 234
A 02d 08 4 oad 124
l2. TF 1 MW & T FAl AH F o ww o he wi s ) e e
i S T
(1 100 w7 (M B0 FFET
(3) 207 [ 2 ERTT

For a 1 MW wind energy generator, the minimum land ares required for

establishiment of wind energy farm is aboul
i1] 100 hectares (2 2t hectares

13} 20 hectares " {4} -2 hoctarcs.
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13 ARl fEm W FieEs ® R 2 2

iy = 121 .
(3 A 4 IR
rlle of papnesia is s cxample of which prpe ot colloded 2
| l}. gl [2] Emulsian
13 Sol [ FFoam.
14, G031 g GepAEE sFER | oeREe s RO A e
[ -0 2] ikl
3] 0-102 {4 2.
The number of gram moles of allwminium ons present m 057 g ool alumirion
oxide s _
{11 00t (] o-0s1
13 Q02 . 4 2
|5, 1 WA o WA Tl el W E
i 16 2 7
3 17 (4| 18.
Mumbaor of valence electrons i Clatom
i1 LB 12] 7
(17 14 L8
|6, T A & A O g E
(M} FHA ifaw T 21 T TR T

13) g R ST AT HEN q4) TV W S
lsntopes of a0 element have

{1]  lhe same physical proportics

{21 dhifferent chemical propertios

13  different nimber ol noutrons

i) different atormic number.
17. U 0 wEgEEA B T dEe wnden gl & 7

I C,LH, (2} T4 H,

(31 C,H, Al CH,

Which of the following hydrocarbons undcreces addition reactions ?
1 C¢,H, 2 C.H,

th  C,H, ) [4p  CH,
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18, S AR H W @ A AW W, vaiedt & o o s e o k)
(v e e T Tt #
(21 HEVTERT SeTEgE A TN A AR
(3] W] AEE w1 T a6 §
() TR SEETEE SATME H & A R |

Which of the following stetemends is not a correct statement about the trends
when going rom left to right across the pedods of periodic table 7

(1] ‘Fhe elements become leas metallic in nalure
{2l  The oumber al valence electrons itcreases
%1 The atoms loae their clectrons more easily

(4] The oxides become more acidic.
19, Uew wma = a9 CH, cooM & T
(1} 8 TREEER Y § (2, 7 TREGS sy § :
(A} O WEAGoTE dRY & (4) - 10 WEUHEE ARG E |
Aretic aind, with the molecular fermula CH ; COCH hay

‘1] 8 covalent bonds ]| T covalent bonds
$31 9 covalent bonds {4 10 covalent bonds.

20, ﬁéﬂﬁ%ﬂﬂ?#%ﬂﬁﬁﬁﬂmmﬁﬁmﬁﬁaﬁﬁﬁlﬁ
difes o= H ot g | wm T e v 0
 FEwm T (2w
(3 fafers K (4 :

An clement reacts with oxygen fo give 8 compound with a high melting point.
Thia compound 13 alag soluble in water, The element ia likely to be

{11 calcium {21 carbon
13 eilicon 4] irom.

21w A % ma A fr wrged w1 e § e e e w wwa E
i) FEAHZ G (2] WS W
3y TEZ W (4] FTEETEE W I
Mcetals in the middle of the activity series can be easily extracted from their
(1}  Carbonates : (2] Sulphides

(3  Mitratex 5 Oxides,
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22, Pb t;i + Cullodag) — PBClfag ) + Cu | s
Fm 41 TE afatE {FE TER B E 2
1 e s v SRR A
13 f=EmT ok |47 FmEmE abdfwa
Pb (5] =~ CuCiglag — PLClglag| + Cuis}

The ahave reacton is an example of @

(1} combination réaction 12 newlralisation reaction
(3} decamppsition reactioen [+ dmplacement reaction.
23 TitzaW qrSM] & A § UE GER FT & AN @ w4 T T I9E we B
(1. Mg 2y P '
i3 Al CI

Ad-hng an alpha particle to the nucleus of sedium atom produces which new

e ment

N I ) F
a3 Al TR
na = W W SRS BIERT AT ] P e H aee § 2
1] e 21 T SR '

(3 EEE |4+ arEE I

Which among the following rell orgnnelles 15 ahle to make its own proteins #

11 Lysosome i Golg apparatas

(3 Plashd 4 | Endoplasmic reticulam,
25, AT faawsrde g T E

(1 uiEl & amam g T A & A AR

2 g

(3y dfEt & i A

[y TOEE T

Latercalary metistem is present in

(1t at the base of the leaves and both the sides of nede

23 i the roots

i3} atthe tp of the leaves

(4} &t the shoot apex.
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26 T AR TS F I

[y TEEMA (2} T
{3 TN @) wiwma .
Which ameng the following is an example of Tungi
(11 Anabacow [ Fuglena
[4F  Mycoplasma 111 hgaricus.
27, TET H W Heewm v & e 3wl o a3 g 2
1] e | 2y HATE A
(4] 3 A T (4 TR W F A |
[n plants transport of soluble products in the process of photosynthesis ooours
in
{1}  xylem ] phioetn
3]  bath af theze (F} none of these,
28. 1 d % S-w F o % e A e 2
.y TR e 21 feEfee
{3 IR (4 HEAT |
Which among the fnllowmg hormones is associated with wilting of leaves ?
(1] Abscisic acid 2t Gibbecellin
(3] Crtokinin {4 Auxin,
7o, AA EOROTE |
(1} HUETeE & (2] VT
3y T F (4 T
Seed 13 modibication of '
il] ovary [ nville
3]  thalamus bt ell af these,
30, Tt W & e weE e e E
(1 Thad T aiE {21 1Peq o 554 (FteTF)

(3} 758 (wfezaen) we sifee g4 e, sifEn o s (ateme)
How many types of muecle tissuc arc found 7

(1]  Striated and unstriated [y Striated and cardiac
3] Cardias sl unstriated (4] Sinated, ynstriaged and cardia.
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3l

32,

33

3,

ey afme § S § wEm 97 A £ 7
1y RS, B, S g fo 9 TEm
) A, feien, T T afn i

(RIS, R, egEl T e o A=
4] AT, ST, SRR e S e

Which charactors are present in a vertebrate #
111 Netechord, triploblastic. coclomale and hilateral symmetry

(24 Mutocherd, diploblastic, coeelomaile and radiad symmetry

i3] Nowchord, triploblastic, acoelamale and bilateral symmetry
|4]  Motockord, triploblastc, acoelomate and radial symmetry.
GEER

(1 3 ia T & A e e

2y =t gTEEl % AT W e e

(31 1 AR e & M S e

(4 ¥ & €E T weA EE e

Synapse 1s

{1] pap briween two muscle cells

(2] gap heween twg betes

(31 pap belween two neaTons
4] gap betwecn muscle and bone. .

frm e o G (R W S E

() EE FH G

12t ¥ES fay R |
Regeneration is found o

(1] topeworm [2] leech

{?] hydra 4y ascaris.

Fpy 3 3 FW TR T TR A e & fAm e w7
(1) ST —s TR — HE — A

i2] U — T — A2 —+ 7R

13 ﬁﬁ—tﬂm—-mﬁ—ﬂﬁﬂ

() W — 3T — U — T |

FIITJEE
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Whach of the fallowing groups constitutes a carrect fogd chain 7
(1) Grass — Rabbit — Snake — Eagle

4y Grass — Goal — Fox — Lion

[3]  Geat — Jrass — Elephant — Soake

4] 3rass — Wheal — Frog — Goat,

35. @M @ RIPERMT &1 FATE i Al Fw e E )

(1) AEErEgm [ TEEE
(3 T U (4 = wER] AfAF |
Which ccll organelle is known as “powerhouse of the ccll* 7
(I} Milorhoned:ia ] Lysosome
[3}  Golgi spparatus (4] Endaoplasmic reticulum.
36, T 17427 +3%2+ o r12?y-eso@a 22 4 4%+ 62 ¢+ 240
T §
11] 1300 2] 2600
31 2500 {41 42250

g 1e + 22 432 4 4+ 122} = 650, then the value of
| (22 +42 0?4+ 129948
(1 1360 [ 2600
(3 2500 4] 42250
a7. xbz thzﬂb Jurﬂg_""2 FT I £ -

b
I ikl () x 2
fentte] 2
3 k2 ) x99
2 2+ ok 2 .2
The square rool of xh xh a3 -b 1%
. ut b :
11] I21ﬂ+b, ‘2] ¥ 2
l::-!-.'.:n|2
3 x 2 (4 xFP
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a8, Wy x+ 3] 2x —Ex+ kN TE PEEE E, A AT E

34,

- A0,

I | @ -6

@3 26 @ - 26,

If[x+ 2| isafactorof '.E;r?';— Sx + k, then the value nf ks
1] 6 (2 —h

(3) 26 4] — 236
p%%ﬁmﬂafﬁq.ﬁm%ﬁﬁﬁaﬁwﬁtw

Sx+ py =7, px + 3y = 15 T HE 5 AL 2

Y : f2) 5

3] x1 4y 4

For which value of p the following pair af linear equalioons dx + pir= 7

pi + Gy = 15 will have no solutions @

(i 9 2y 15

{3) #3 4y x4

o G G T W A ¥ | T W @ o el T g & o A
29 m AR 36 m it T fem 3t frgall w AR & A o1 T FT FET: 41°
7 467 & | WA §

{1 40m (2 42w
3 44m ) d6m _

A tower i on 8 horzontal plane. The angles af elevanan of top of the tower [rom

two poinis on & line passing through the foot of the wwer at distances 49 m and

"36 m arc 41° and 49°. The height of the tower is

{1] 40m (21 42 m

3} 44m 4] 46 m.

FIITJEE
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(1l =+ 2y 2] x-y
{3 x+y [ x4+ oy

Swdes AF and CD af a guadiilateral ABCD are extended as tn figure. Then a.+ Bis

equal to

h
1] =+ 2y 2} x=y
3 x+y t<H 2r+ oy

42, T FFA T O F F FF & TF T . poOR = 80°, T 2 Ros A E

{11 30° 2y <40"

(3 1407 i1 507

FIITJEE

13



In the figure 2 the centre of the citele and 2 FOR = B0, Then & RQ&1s

{1 3’
(3 1807
43, ﬁﬁrﬁﬁ*ﬁaﬁiwﬁmuy-:.;>aﬁdi:1mw§qunfﬁqdmﬁ.ﬁfﬁiﬁﬂaﬁ%
BT o A &
(p 12 (2 1:3
i3 104 4 Z:3.

If every side of a triengle is doubled then a pew tnange is foroed, The ratie of
areas of these two triongles i

i 1:2 [2] 1-3
3 1:4 (4] 2143,
a4 Tz % Tl S 5 & A TR AW e SFAT 300 §, 7 TN T &
) 1500 N T
13 12 (4 B

If the diliercnes of fag numbers is 5 and diffcrence of their squares is 300, then
sun of the numbers is

j1] 1500 2] G
(3 12 i<} &,
45, TR OETH ax? + 2x—2 = 0 & 41 AEfaE T R A A o FAAE
i1 u> ?1 2]  as %
A a2 31 [y a= 131

Il the cquation ax® + Px— 2 =0 has roab and distinct ioots, then the value of a

13
N J i
(1} a:‘? (2 DE—E—
B az o P
7 3

FIITJEE o



a6, Mo+ bte=0,at

ta+b)2 , b , letal

ab b Fir) & é‘
i1 1 a2
(43 {4 -3

Ha+ b+ e={(, theo the value of

) 2 2
fatbl | {bref®  feta)

ab ic ca
(] 1 i) 2
(31 3 (4 =3 _
B ﬁlu‘éwﬁrﬁﬂ?ﬁ,ﬁrﬁﬂﬁ-.'%,xr.mmmqﬁﬂﬁ?miﬁrt‘;ﬁ,ﬂﬁxvllmﬁI

£ ACB F1HH § .

F4 A T

L

Fr B Q
(1 80° 21w
3 v0° 4 100°

In the given figure O is the centre of a arcle, XY, PQ, AR are tangents of the

cirgle. I XY [ AQ, then the value of £ A0B s
A

X ¥
a
P ’ 2 0
(1 s0° (90"

A Tt i4p 1007

FIITJEE



cio T

45,

1)
()

l—tan® cotf—1

sin 0 + cos ()

A s b

cos0

1—tanf T catg—l

(L]

(31

4 3T GF N FE T 52 o ® T W ® oF e R e o TERERTI
T {1 1 ST B

(1}

131

A card iz drawn from &

15 & Fod ace is

f1)

[3)

gin O + oos

Tl

!

E .

3
32

L
3
2
52

—

is egual to

[

i

121

[-T.

(2}

14

14

Cips Al — s b

¢

Lovall gl

FTO LI TN

e B — i

- g

(]
o

50 tan 20° tan 40° tan S0° tan 70° F AE £

(1}

i) 131

i

3

(2]

[

Value of tan 20° tan 407 tan 50° tan 7O s

i1

0

(2]

()

A
J3

ol

well shuffled pack of 37 rands. The probahaliy 1Rt card

FIITJEE
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51

52,

2ad.

T AP & AN G @RI A I o 7 1 AT OE |1 T /Y AT 2 8, A AP F
9%l T e ¢

{11 o [2] 20

i it EISENT Y

Suo of & two terms of o AP is 600 IF furst term s 11 and common difflcrence

js 2, then the number of termes in the AP s
It 22 (4] 20
(3 11 R VI

wly FRHt 37 it gty oF I =W 4T 60 om £, 9T F HAEE €

" L

[lf 49=x ™ 1) 14 x em” " e
Ay 190w om @ i) -t—q 1 n::m?_ : '

i the diffcrence af circomierenoe and diameter of 2 circle 12 60 cin, then the area

) . L T |
of the circle 15 _ 3
. oy
1] 4% n em? {3 14 7 cm & P B
(196 wem® (44 —"'45 wem?

o6 TRt T A SR o E1 AL AT o2, bt MR 2 &, A T A

#AMTT §
(1 aZple? {21 abe
(3 atedel 4] Jfabe .

I \he areas of three adioinmng faces of a cuboid are at, b2 and c* respectively,

then the welume of the cubod is

i alhlel 2 ahc
3 et p3ed 4 Javc.

FIITJEE
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54, E?rnéa@fﬁﬁAsﬂﬂqﬁm%ﬁﬂﬁamlncﬁmw:nma:zﬁ | &A0B

T 4 COD % EAwE F A E
- . L . D -E

1] a:2 @ 2:3
3 t:v P TRETRRY
In the piven fgure AGCD s o trapemium in which AH |l DT and A . o= 3 2.

The ratio of the arcas of 4 AGT and A COD e
[ C

32 2] 23 -
S 4 4
55 T 5.9, 57, 4,y F ARG L A x5,y T EEE
1y x4y =42 (2] x+y=17
(31 x—y=10 4] x-y =432

f the mean of 5, 9, £ 7, 4, y is 7, then relavon belwecn xund i 15

1 xtp=42 [ xhy=17
i3 x—y=10 (4] x—y =41
56, 1% B |
L T w 2y TR
(3 WEE [4) . WA W
Tithe i -
L 111 mehpgious tax 12} impleed tax
(3] radlle tax _ e feudal L.
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57, TR A

(1] e (2 WA
(3| WAl 4] TR
Whu was Rasputin 7
11 King (2} Mank

-3 Revalutionaty |4] Prioue Minispcr.

8. rr A gEpe & |9 faer oW A ee A S o o

g e 12} T A e
31 WA B e (4 W He e

The railway line which was to'be constructed between Multan and Suklour was
i)  Marth Valley Railway [} [ndus Valley Railway

{3] Souwthern State Failway {41] West Valiey Bailway.
5. R o 6 A A 9T e

(i e 21 Wem
3 EY (4 FEA

Whe adepted the "Scorched Earth Policy' ¥

1] Portuguese (2] French

(3 Dutch {3} German.
60, TER AR L., T 0 WERE E

(1 TR | 2 famm

(3 TR WEE o (4 FATE |

Raikag belong to the state of
(Il Rajasthan {3t Bihar

. (3t Utmr Pradesh i4) Karnataka.

FIITJEE



L.

£,

a3l

bd.

ﬁﬂsaﬁqtﬂﬁw?ﬁa‘ﬁwﬂ

A (2p  =gEd TR

3 famr w0

Young 1taly, & secret society was fnrmed L

1] Mewemich : (%) Ciuseppe Mazzio
3y Bismack 1 Hitler.

Franes FergtTas o 371§ At W g 2

n  FEvr (2 S

(3 W I

The thivker Canlucius belonged to the coantry

11} England 20 America

(3] China (4] Japan
AT AT T 3

(i 10 3T, 1210 @ 13 9, 1919

(3 14 3E, 1919 3 L@ 2IE, 1919,

Jallianwalla Bag incident ook place on

(i) 10th April, 19189 @ 13th Apri, 1919
(3 14th April, 1919 [4p 18k Aprl, 1919,
TiEl Tod £

1 Ty (2] TR B

(4 TERAM ® (4 TR A |

Urandi is located 1o
mn Cujarat (2 Rajasthan .

(4} Maharashtra 4]  Punjab.

FIITJEE
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65, HMERR 95 I o
(y 1927 30 21 1929 %o
{31 193030 [y 1931 g0

The tireat Depression hegano in

il 1927 Al (3 1929 AD
@ 1930 AD 14 1931 Al
6. ARG & 919 # 2 A9 A o fema 19 1073 % === fom e oy
{1) G (4 Ere
i3 I |4 F R FEER
Which i=land was k.nnwn ag Amwndiv whose natne wax changed in l'-]'.'-;'ﬁ *
il)  Lakshadweep [2} flaldives
3. Mew Moore island - 4] Car - Nicohat,
A7, -7 - g E A W 5T W g 1 =g A -
g -g = -
{1 T it A
(@) e iy A
() Frrt?r- iy AL
(T Fwm v} TREEEE |
: T

T i il v
(i i TR
3 6 il : i
B v Wl i
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68.

Match lList — 1 wilh List - ) correctly and choose the corrent cede from the

follreing -
List-1r List =If
(Al Kaveri [ Masik
{B] Godavari iy  Betul
21 Fuama f1i] Brahmapin
0] Koshoa I'l'-'.] Mahabalesbhwar.
Code -

i 1 it 1Ly i
1% i 1 Lk w
I
My v s i

T T TEHE & E &6 R )

(1} AR [:;'J.J S
iﬂp.ﬁm?’ﬂ 4} ﬁfﬂ,ﬂﬁﬂ?ﬁ?l
Sralagimnte and Stalactile caves are located in

{11 Mawsyoram 2] Cherrapuryi

(3  Shimla () Jammu and Kashmar,

FIITJEE
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69, FA 54 H H 0F G S smd 297w ey &
(ar) e
(F)  wi¥e =Sme
(¥} = T FIEE
{7} wgEr=
11 = (=) 21 (3 3 (F)
(3 (3 " (| ¢ TR
Which statels) has/have the highes| reserved forest ratip #
(4]  Kerala |
(B Weat Ee:—:g&i
1) Jammu and Kashmir
L) Maharashtra,
Choose the correct answer from the cudes given below
{1} only {B| (21 [A] and (D4
(3% A and i) - 4] all of thega.
70, S =0 0 o AE TR & vy F o w0 faea § e v

[t 131 21 1aas
(3 137 @t 157 |

With refrence to waler availability per person per year India’s rank m the warld is

(i 131Ist [2] 133rd

{31 13aTth . ) 137th.

FIITJEE



71. %mmﬁmﬁﬂm#gmﬁmmﬁaﬁwg‘ﬁtmw%?

-

1) TEER py  EEEE

Ay AR 4y FARE

Soof waler harvestng syslem is a compllsory sirlctirs 1 wﬁir:h state ¥
[1]  ibar 2] Meghalaya

i3 Tamil MNadu e Kamataka.

7 ﬂfﬁ'ﬁﬁﬂfﬁ—ﬂﬁﬁ@%ﬁﬁfﬂﬁﬁﬁﬂﬁfdﬂﬂﬁamHﬂurﬁaﬁ:

W - Tl - ot
{37) = ) FNETE
(=) afe ity T‘mm E
(= =7 iy T R
(7)) Toa v|  %oe TETEAA |

1] 1 1k in iw
¥4 v iy i i
]l ii ] 1l v
i i 1u i i .

FIITJEE
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Match List - I and List - II and choose the correct code from the following :

g List-1I List - IT
_ (Ay  Waler i Jharkband-
{B] Dahiya i) Himalayan region
iC)  Khil i} Madhya EFTadEﬁh
D Kuruwa . | fiv) S.E. Rajasthan.
Cade : ; .
A B C D
-
1) i i il v
@ ~ W -1 # '
13} i 1 i iv
[d) v i i i
73, - (9g = U RE TER w e a2
| 1) T | @) 3 wEET gl a1
« . [3) vEEEE () 39 HigEdg vasE 9 1
Rubber is related to which type of vegetation ?
{1}  Tundra Y 2] - Tropical rain forest
(3) Mountain forest {4}  Tropical deciduous forest.
74, Wﬁamﬁmﬂﬁmﬁﬁammvﬁm% 2.
(1) = [2) s
@3] % HTE . 4y A

Koderma mines located in Jharkhand is rich in which F:inerals e
{l] Bauxite : (2f Mica

i3} lron ore . ) Copper,
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rs. FETH @ ST T gen- - st iEIETE | W e e v
1] A An TR
(3 T & T W

which ol te plhswing states is net connected witde Hajira-Vijuypur-Juadishp:

pipedine ?

(v Madhya Pradesh 1] Maliarashtra
. tAy Ghujarat 14 Ltlar Pradesh
76, BTHERET 4 3 T Rk TR 2
np R o
i) TR § A - P
I3 AEE FRT R EEEE S dnnf}m S
4y H T _ mEEE

Which amung the following is not correctly matched #

{1]  Popular oty - Salvador Alrmde
2] Solidamoesc ot golidarity e Lech Walcsa

(3% Malicnal Leagoe for Demaortacy — Augusio Puoclwt!
4]  Balh parly * - Saddam Ilusse:i.n.

-l
=l

AEH T SATET W A 3 T H ] # Tead

(1] 3SR, WA, HeAR,

(34 TR, A, 9, Sl

(3] WA, DR, M, TR

(4] G, EATEEN, S, SGAERT

Tdentil the carrect ordet regarding the pranting of universal adult franchisc -
{1 .ﬁrg-’:ﬂtina, India, Malaysia, Greece

(2]  Malaysia, Greece, [ndia, Argeniinz

(3 India, Argentina, Greecs, Malaysia

(4  Greece, Madaysia, India, Argeodns,
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78, HOE T% T TR & W3 4 mer oen w i

i1l

[2)

(3]

[4)

mamﬂaﬁﬁﬂﬁwﬁ%ﬁﬁm&ﬁqm%?uﬁﬂd
AT HzT 9 S0 S

Ad FY 9 FH TR 42 7 TR D1 T FN e & A A A £ 7 uew

e ®F R A, Wy vy e ey i Rlus 0 & e e odm

ERGHE e el Al s per A
HTCTE T ol F 3 A6 A & A0 o e gAE AAT E o

qter A1 Hfkchi{ e T & T WEE KT A T &

Fund cut the wroang explanation af fupnctioning of United Mations .

11t

12

[H

{41

Who lends money 1o governments when they need it ? Intemational -

Manetary Fund { ].M.F. | does so.

What happens when a country attacks anather country in an unjust

manacr ¢ The UN. Security Council, sn nrpan of LN, is responsible for

Maintalfing peact and secunty Among countries.

The weightapge of vate ol svery member of Internatonal Monetary Fund is

arliEl.

Each permanent member af Security Counail has voio power.

G, WEI S e

i1l

{<]

i3]

i

FAHT GO — AT ACFR F [wdl v A O g1 FaEmar o JEan § |
Hﬁnm—wwﬁmmﬁ?hﬂﬁwmmaﬂﬂﬁaﬁmﬂ
Hm &M E

LIl ﬁﬁmmﬁﬂmﬂqmuuﬁﬁmltﬁm FEL AT FG
A 7T R A E

AvET WA - § i T e S AW v F T w5 R

A BT Y . \
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RG.

Find out the correct explanation :
|1l Fefererdim - Only used for a specific poiamment policy.

i ‘Cangp - Acoop is legal syswem. inowhich system the government hands ove

all righte and powers g0 the military.

(3] Martind lawe - A syslem of rules. that rakes effect when a military authority

tokes control of the pormal administralion of jusiice.

(4] Compers! Stete — [ncommunist stale all polincal parties have complete

hherty 1o compote [or power.
Frey Frgadl R ¥
Ay ErRETEE TR aght gl 8 der & wi T W S S
A wWET ) :
(B SR A o A A w8
W1 TE TR A Tl F Wl Al S w6 |
) TE TRE] 1 EER SgE S )
aTd el F o d @ 2 3 s e e
iy AT A 21 AR
7 A BFATC 4] A B O D
Pay attcntion on the following points

(A] A democralic gevernment is a beltér government Decause il i3 & more

accauntable form of government.
(B} Democracy improves the quality of decision making.

() Democracy provides a method to deal with the differences and

canflicts

i) Democracy enhances the dignity of cilizens.

- Which are the factars invalved i compnsing Indian democrany =

1] Aand B 2 Aand £

LT A FBoand ™ i1 A B Cand 2

FIITJEE
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Bl Frefciias qet | W e ® Wty & R A AE a9 weat

h

fl

13

(3}

a F e e € e g Mom mmis T & e zmes @ st
FHEA@ME 1 _

AR 2 S A o Bus O meefes afiEmer = wy o o
¢ 1 ST A A S S TS mE & w4 T e E

TEAVFF F1 3 TAT Hoqmemd & o 2t wowndt i ) s amm
TEHF i T M7 Sl &1 ) T A |

r.r|‘|m.ri:{ﬂ1‘r4-|c1-;-1ulﬁ%ﬁ?ﬂﬁfﬁﬁfﬁfmmwmﬁﬁaﬁﬁﬁﬁﬁﬁﬁm
T TR AW FR S F s e BT

Which amang the Tlollowing stalements is o moral ceasgn regarding  the

desirability of power sharing »

{1)

(2]

i

4]

Fawer sharing is good bocause it helps to reduce the passibiline of conflict
betweon social proups,

Sacial conflict often icads to vialeoce and political imatahility. Henee pn;.uer
sharing is a good way w ensure the stability of political otder. -

Tyranny ol Ly m.aj-::urit_'.-' s il Juat oppressive for-the minedty, it often
brings roin 1o the majerity as well

A demiocralic rule involves sharing power with those affectod by its exercise

and who have ta live with 1ts effects.

22 TEE = 3 55 vea s v owm 2y

(A} TE] AR 51 AT TR el a3t &

(B)  HF-SFAT T W B 0 B ARE B 9T YN A R ) O AW
AYFT BT - 3ET AT & |

(C) ﬁwm#ﬁ'&ﬁ{&-ﬂﬁaﬁaﬁm’ﬁmuﬂwﬂaﬂ?ﬂ?ﬂﬂﬁm
(A

u:::. ety w5 INET T ) R % AT A £

U HEEE o 458§ 0 T S W g w E 7

i1l
k3

B #t o o asmo
A B¥T 0 4 A BCHTD

L]
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33,

Lec ws lools ok some of the key features of federaligo
(A} There are two of more levels | or tiers | of pavernment,

] Dilferert tiers of poveromenl govern the samn citigons, bat each teer

bas 1w own urisdcian.

{0 The cxistence  aod  authority of  each Lige of  giwvernment s

canstifutionally puaranteed,
(e Al atates iy the Indian Unian have identical powens.

Which facts are correct regarding Indian Federalisim

A1l Dand D 2] Aand

3 A BandC . (4] A, B, Jand O

wpEEt difeur= o) A SFELE H AT R W S A F A J e

*H H FTREY :

(1 =1, mE 26, s 7y Te=l, |, ae, e

i3 T, e | e, TE (4] fe=, @b, wodl, ST

Y

Find the correet sequence of languages in the ascending order according the

proportion al spealeis as dqs-cribed in Bth Schedule of The Constitution of [ndia :
i11  Hindi, Marathi, Telugu. Bangla |

(27 Hindi, Bangla, Telugu, Marathi

i3F i, Telupu, Bangla, Marathi |

{4)  Hinde. Bangla, Marathi, Teluga,

FIITJEE *



84, TR HTAG A e R g W w3 ghe
. L et -0
(A FEA ¥ fERE s ww Saigem,
FlTieE A ArEEEE F g T

1 wTwr b s fiy  ERIFTE T
B A gean Atee seafi aeE F
ST T AT Jiil A AT T

(€l TS & Hife e F oo
T WER A T WA TEAT L i) 1902
(D] SWHA HiFAs oawen & S

T HITETHERTD | [y AT |

T
A . [ Fe
T i v idj ,
21 il iih + v
3r i Lii i i

(T3 I TR Y i in.
Match the {ollowing and chonse the correct answer from the code ;
List - T " List = IT
1A]  Power 18 shared among  different
nrgans of pavernment such as the
legislature, executive and judiciary Ul Unmmunity Govermiment
1) Power is shared mmaong differsal (i) Heoeozontal distribotion of
social groups preTweeT
[T} The fundamental provizions of the '
constitution cannot e unilateralty

changed by one level of government fie1] En 1992
(0] The consututionalisation of 3td tier
ot [ndian demoeratic 3}'5t1:11i. (¥) Federalism.
Crnder :
A B o D
(13 iL b ¥ il
[ i i i1 Y
[} 1 il il iw
[4] u v i , i,
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g5, e st 7 ol T F7 # W T g

11]
1]
i3

(4]

Malch the fllowing and chonse the cormeel answer rom Ehe given cade

bAb
(B]
{Cl

(L)

11
il
Tt

(Al
(B
(C]

(o

Cnde

11]
2]
3

i)

. -I
i
=1
ot g
B C D
1t i v
Lni iv 1
i i v
i i 1.

Ligt - T
Umion list
Hate fist
Concurrent lisl

Eesiduary powers

E C D
il i Iy

i b !
i il v

b 1l 1

o -1
[l TS Ly
] ECa
ig) e
tiv) e

L]

List = IT
[ Computer softwate
tiif Banking
i) Education

(v Polica.
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sAT-3 134

g6, B A FAE e R T 8 A 7

{1y 1395 ' , 2]

i3p S i3 Fm

Which nne of the following s an activity of the tertary sector 2

—_

1 Mming (2y  Toutism

137 Dairy 4} Agnculture,

g7, M ® W aed 8 aE el fam g 2

!
TG (2) fﬂ'ﬁr[
i% T[T (4) ST 1

In which state of India, is Amul Dairy situated #

. (8 Rajasthan i2)  Bihar H

J {31 Cujarat ' H Karnataka

g8, ‘U g e A A
1y 24 femR w {2) 24 T 3
7 24 freeR = () 24 FTREDF
The 'Mational Consumers' Day' iy celehra.ted on
i1y 24th December ? 12| 24th Nm'ﬂgl b-r:r.
(31 24th Scptember (4] Z4th October.

FIITJEE .



{35 . BAT-3

g9, Tl I R T A T g e @ Gt w0, a5 W g

(y fFE A j2)  WEH Ol TR
(3) e ATy (4] ‘.:I_?r'r = A 1

Nauanal income of any couotry is divided by iis tetal popalation, we get

[t personal income |2]  gross demestic product
(3 private income i+ . por capita come.
o0, TR s i i T O R et e fafy & 2
(tp Frete i (2) 3 fafy
3 @ TEE A
Amang the flowing which ts. the method to estimate the paverty line 2
(Iy  loeestment method [ﬁj © Income methed
13 Capital method My Al of theae,

g1, T9=1 & @ ¥ T g 2

(1) A U9 R R FE S WA e B F WEfE 3T SN u T
* U fied g g

3] R T A 4T S O T g § i g <l 4 o 3§
T v i &

L3 AT T I AT SO0 & W $en 26w 3 ReT Fed g R |

) el T R 9 adil & a e v & o Ferd @R

Which of the fallowing statcments is correct ?

i1y Centre of curvature of a mncau& mirear hies in front of it whereas that of
conves mirror bes behind 1.]11_: WLToT.

(2] Centre of curvature of a concave mirror lies behind it whereas that of
convex mirror les in front of the mitTor.

(3 Centres of curvature of bath concave and convex mirrors bie in front of the
mirri:r_ | .

{4 Cenlres of curvamare of both concave and convex mirors lie behind -the

muarror)

FIITJEE >



SAT-3 f 36 )

P,

g3,

Chd.

95.

T X, XC|, I/ A TGS F0 & W U 2 T R e S E
HTES A | T x T wgE % siila g 7

(1] N (Mg

(31 Al My S

Eletnent X forms a chloride with the [ormula XCI ; which 15 solid wilh a high

melting puint. X would belong to the same group of penodic table as

{1] WNa 2 Mg

@ Al 1 Si

g afeit= 4 sl F e = 9fEe i

(. 8x10% - 21 602 = 1077
(3 150 = 107 CTR: )
Caloulate the number af maolecules in 8g O 2

4 8x10%? L P L
(3 15l a10% 4 8

faer # # - vers & Tonl W2
i R A TR @ TRl e
(3| WAt dn e (@) TR o e |

which of the following s carrect for Fyngl ?
(1) Prokeryotic and saprophytic
2] Fulkarvotic and auvtotrophic

13 Prokaryotc.and auletrophic

f[=H Euka:}'ﬂtic and saprophiytic.

T ! FA & geeEn & e e e E 2

{1 g (2) MR

(31 T (4 R )
ladine is essential far the synthesis of whach hqmm}e 7

.l 11 Adrenaline [2) Thyroxine

2 lnsulin 4] Ohovtogin.

FIITJEE

35



EILR

ag.

oy,

| 37 SAT.3

'SR TR fe A R A T e eI ga

r

(1} TETH , (2y
o FEAR 1) EEE
‘Opieneal Cricket Clab the fivst Imdian Cricket Clul was founded at
(+v  Madras I} Bombiay
i1 Ranpur {11 Calouttn.
S f B - EO HIETAE oo T ARG T 2
TTECEL (21 FETAPTY HATH
(3 wEER ( #Z M
Which of the follewing is not associated wirth Coriolis forue ?
{11 Cychomnes {21 Clcean curcents
3]  Prevabing winds [4] Jel streams.
TR T T G e T AR #
() (21 A
|3 (41 THTT |
Thie Yoeal povernment siructure goes right up to the level,
(1 Wilkage [y Woard
3] Sdate 14 Cristract.
e & fom T O b T TR, FEEl sttt & onam o T e E o2
L] LERTE (i fewl
(3r g 4y A |
In which state of [ndia maximum Eair price shops arc tun by the co-operatives 7
i1 Wkiaharashtra 2] [Petha
3] Tarmil Nadu ) [ Gujarat,
100, T F SRR wa 1 e TR E

) UEER @p  WEER] AW
3y MR TR ol
[nformal sources of credit do not inchede .
(13 monevienders 3] cooperatives
(3] traders 4] Ariends.

=
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